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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2 The question paper is divided into two sections.

3. Attempt five questions in all, selecting three from

Section A and two from Section B.

4. A simple calculator can be used.

5. Answers may be written either in English or Hindi;

but the same medium should be used throughout the

paper.
P.T.O.
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L.~ (a) State the second welfare theorem of economics.

Explain how a Society maximizes social welfare
using utility Possibility frontier and social welfare "E;
®)

function,
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(b) Explain the concept of Pareto efficiency and

Pareto improvement using a diagram. (7)
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2. (a) Explain the concepts of Statutory Incidence,

Economic Incidence and Tax Shifting. (6)
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(b) With the help of pay-offs matrix explain the
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preference revelation problem in the provision of

public goods, 9

R

P.T.O.




“
3188A

Ma@a‘ﬂﬁmﬂ%w&mﬁmﬁaﬁ%
gﬁlﬂﬁﬁ SAREL Wl@mmaﬁwﬁl

3. (a) How can the cumulative percentage of housepojgs
and cumulative percentage of disposable income
be used to measure inequality in the distributiop

of income and wealth. _ 5)
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(b) Explain the difference in deriving the aggregate
demand curve for private goods and public goods

using diagrams. (10)
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4.  (a) Show diagrammatically how the outcome of Coase
theorem jg independent of the assignment of

Property rights, Digcuss the shortcomings of the
Coase theorep 9)
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(b) Write short notes on the following:
(1) Information Failﬁres

(ii) Unit Tax and Ad Valorem Tax (6)

Freaffae w© it fwiet e

(i) ge fahe

(ii) affe de IR Vs AW Sl

5. (a) Give and explain any two practical differences
that might lead to different outcomes under
Emissions fee and Cap-and-Trade as means 10

(10)

control pollution.

g@m'ﬁﬁdﬁaaﬂ%ﬁ?w%mﬁmﬁ#w
aﬁI%q-Q"s'ﬁ's'%ﬂfgaﬁ%a’TwﬁmW%&ﬁT
TG S ST - 3T IR ¥ FeRw B

p.T.O.



3188A 6

3 » 4 . 113 AYAEAE M2 g 1
, why externalities are 'reciprocal' in nature

(5)

(b) Explai!
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SECTION-B
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6. There is only one private bank in this economy. The
initial deposit with the bank 1s Rs. 1000 and the
required reserve ratio is 0.1. Explain the process of
money creation in this economy assuming all the
money is deposited in the bank. Derive the money

multiplier. Calculate the money supply and loans
created in this economy. How will the money supply

and loans created change if required reserve ratio

increases to (.27 (15)
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Discuss the Neo-Classical, Ricardian Equivalence and
Keynesian views on how fiscal deficits affect growth
and stabilization. What are the differences between

them? (15)
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Briefly discuss the reasons for vertical and horizontal
imbalance in the Indian Federal structure, Explain the
various criteria suggested by the 15th Finance
Commission for vertical and horizontal devolution. How

is it different from the earlier Finance Commissions?
(15)
P.T.O.
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